ANNOUNCED QUIZ #3 — ME 3030 — Section 001 — Spring 2024
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This is an open book quiz. You may use a four function calculator. An unsigned honors pledge will
result in a zero.

1. Consider a Carnot power cycle where the working fluid is 0.5 1b of water. During the
isothermal expansion, the water is heated at 600°F from a saturated liquid to a saturated
vapor. The water then expands adiabatically until its temperature drops to 90°F and the
quality is x = 0.643. The next process is the isothermal compression. Determine the
quality at the end of this isothermal compression.
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I HAVE NEITHER PROVIDED OR RECEIVED HELP DURING THIS QUIZ.
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